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QUESTION 1

In a comparison of an IPv4 header with an IPv6 header, which three statements are true? (Choose three.)
A. An IPv4 header includes a checksum. However, an IPv6 header does not include one.

B. A router has to recompute the checksum of an IPv6 packet when decrementing the TTL.

C. An IPv6 header is half the size of an IPv4 header.

D. An IPv6 header has twice as many octets as an IPv4 header.

E. An IPv6 header is simpler and more efficient than an IPv4 header.

F. The 128-bit IPv6 address makes the IPv6 header more complicated than an IPv4 header.

Correct Answer: ADE

The image below shows the differences between an IPv4 header and an IPv6 header:

0 4 L] 12 16 F L ]ﬁ 31|

(Reference and a good resource, too:
http://www.cisco.com/web/about/ac123/ac147/archived_issues/ipj_9-3/ipv6_internals.html)

QUESTION 2
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What are three reasons to control routing updates via route filtering? (Choose three).
A. to hide certain networks from the rest of the organization

B. for easier implementation

C. to control network overhead on the wire

D. for simple security

E. to prevent adjacencies from forming

Correct Answer: ACD

Route filtering hide certain networks from the rest of the organization and it also controls network overhead. Not only
this, it also provides security to the routing updates.

QUESTION 3

Which BGP path attribute is Cisco proprietary?

A. weight

B. MED

C. local preference

D. origin

E. next-hop

F. AS-path

Correct Answer: A

The weight attribute is a Cisco proprietary technology. This attribute is local to a router and is not advertised to
neighboring routers. If the router learns about more than one route to the same destination, the route with the highest
weight will be preferred and will be installed in the routing table. By default, the value of weight is 0 and the range is

from O to 65535.

The route with the highest weight will be installed in the IP routing table.

QUESTION 4

Refer to the exhibit.
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RT-3# show ip bgp 198.

BGP routing table en 98.133.219.0/24 , version 75
Paths: (2 available, table Default-TP-Routing-Table)
Advertised fo u% ps

1
2005 7007 21

128.107 metric 7872) from 128.107.2.2 (128.107.2.2)

Origin metric 2100, localpref 100, valid, internal, best
3003 600e 31250

165.105.255.2 from 128.107.255.2 (128.107.0.3)

Origin incomplete, metric 2500, localpref 100, valid, external

Router RT-1 chooses one path to network 198.133.219.0/24. Indicate the reason Router RT-1 chooses this "best" path.
A. In making its decision about the best path, RT-1 gives precedence to the origin code.

B. In making its decision about the best path, RT-1 gives precedence to the BGP MED values.

C. IP address 128.107.2.2 is lower than 128.107.255.2.

D. In making its decision about the best path, RT-1 prefers the IGP metrics.

E. RT-1 prefers internal BGP routes.

F. IP address 128.107.254.2 is lower than 128.107.255.2.

Correct Answer: A

After BGP receives updates about different destinations from different autonomous systems, it chooses the best path to
reach a specific destination. The following process summarizes how BGP chooses the best route on a Cisco router.

Prefer the route with the highest weight. (The weight attribute is proprietary to Cisco and is local to the router only.)

If multiple routes have the same weight, prefer the route with the highest local preference value. (The local preference is
used within an autonomous system.) If multiple routes have the same local preference, prefer the route that the local

router originated. A locally originated route has a next hop of 0.0.0.0 in the BGP table. If none of the routes were locally
originated, prefer the route with the shortest autonomous system path. If the autonomous system path length is the
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same,
prefer the lowest origin code (IGP

autonomous system is the same for all routes considered, unless the bgp always-compare-med command is enabled If
the routes have the same MED, prefer external paths to internal paths. If synchronization is disabled and only internal

paths remain, prefer the path through the closest IGP neighbor, which means that the router prefers the shortest internal
path within the autonomous system to reach the destination (the shortest path to the BGP next hop).

For EBGP paths, select the oldest route to minimize the effect of routes going up and down (flapping). Prefer the route
with the lowest neighbor BGP router ID value. If the BGP router IDs are the same, prefer the router with the lowest

neighbor IP address.

QUESTION 5

The 192.168.0.0 network is not being propagated throughout the network. Observe the BGP configuration commands
from the advertising router. What is the reason the 192.168.0.0 route is not being advertised? router bgp 65111
neighbor 172.16.1.1 remote-as 65111 neighbor 172.16.2.1 remote-as 65112 network 192.168.0.0 network 10.0.0.0 ! ip
route 192.168.0.0 255.255.0.0 null0

A. The network 192.168.0.0 statement is missing mask 255.255.0.0
B. The network 192.168.0.0 statement is missing mask 0.0.255.255.
C. The network 10.0.0.0 statement is missing mask 255.0.0.0.

D. The network 10.0.0.0 statement is missing mask 0.255.255.255.
E. The auto-summary configuration is missing.

Correct Answer: A

The "network™ statement in other routing protocols (EIGRP, OSPF, RIP...) is used to enable routing protocol on the
interfaces within that "network" statement. But in BGP, the function of a network statement is to tell the router to search
the IP routing table for a particular network, and if that network is found, originate it into the BGP database. But notice
that you must have an exact match in the IP routing table to appear the network in the BGP routing table (in this case
we don\\'t see the auto-summary command so we suppose it is disabled in this case). For example:

+ network 10.10.10.0/8 will appear in BGP if network 10.10.10.0/8 appears in the IP routing table. + network
10.10.10.0/24 will appear in BGP if network 10.10.10.0/24 appears in the IP routing table.

Therefore, in this question the static route "ip route 192.168.0.0 255.255.0.0 null0 was used to put a route to
192.168.0.0/16 into the routing table (although it points to NullO but this command really makes that route appears in the
routing table). But the "network 192.168.0.0 statement tells the router to lookup network 192.168.0.0/24 (if the network
statement under BGP-mode does not specify a subnet mask, the default subnet mask of that class will be used). The
router only finds network 192.168.0.0/16 -> The network 192.168.0.0 is not being propagated throughout the network
because of the mismatch of the subnet mask.

Just for your information, in fact we have to suppose there is no entry of the network 192.168.0.0/24 exist in the routing
table except the static route "ip route 192.168.0.0 255.255.0.0 nullO. If such an entry exists (for example, a directly
connected entry like "C 192.168.0.0/24 is directly connected") then the router still advertises it with the "network
192.168.0.0 (without mask 255.255.0.0) command.
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